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¢ quqse check whether you have got the rwn quesnon pape(:.

: N.B. l)All the quuhontirc eompulsoxy
> 2) anmutotheﬁghindmate fullmarks

Q. l Attempt any two of the following:
~ A)Give the various problems of Public Sector in. Indla.
B) Explain the role of agriculture in industrial d 1
©) Give the dlft'c(ent types of monves of Melgar ::‘s '

-~ o~

Q.2. Attempt any two of the following: ,

~ A)Discuss the factors affecting of Industrial lmanon. |
B) Explain the theory of Sergeant Florence oﬂadnsmﬂ-
C)Dlscuasthevmouscmofthereglonal wbalan

Q 3. Attempt any two of the following: o \ -
A) Explain the measurement methods of Industrial prody I ity. ‘.‘ &
B) Discuss the factors affecting Industrial P rodud :

g C) Explain the concept and impact of Rationali
5-" . Q4Anempunytwoot‘ﬁxefollowing

A)stcusaondisinmunentpohcy' "
S B) Explain the role of MNC’s in deve =3
- () State short notes on industri \C i
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Paper / Subject Code: 97221/ Economics : Research Methodology I(R 2022) .;7::

»

Time: 3 hours Muarks: 100 ' o

N.B.: I)Allqmiiionsmcompulsory. : = ) v

Q3.

Woﬁ% 2 y ..: , =
{A) A of the following:- > 3 : 20

2) Each question carries 20 Marks.

3) Use simple calculator is allowed.

4) Graph paper will be supplied on request.

) Attach the graph paper inside the answer book.

. Attempt any two of the following:-

_(a} What is mean by social science research? State | llw basic assnmp(iou of

(b) Explain the significance of social science research.

{¢) Which are the limitations of social science research? %
o2 Attempt any two of the following:- \

(a) Explain the selection of research pmblems @
© (b) Which are the criterion of selection of & research problem?
(c) Explain the types of research design.

Attempt any two of the following:-

~{a) Describe Interview method. )
(b) Which are the essentials of a good sampling?
(¢) Explain the various method of Non- Random

b) Calculate the arithmetic meanand Mode from the fo data, - > 2
[ Weight(x) 80 [80-100 [100-120 [120- [140- |
: : 140 160 |
| No. of students 23 20 18 115
(¢) Caloulate quari QD) for the following data. 3 v
300-400 | 400-500 [ 500-600 [ 600-700 |

23 255 15 10

Objective of social science mmuh

on dats collection and analysis S
and demerits of questionnaire method

in the various method of random Sampling.
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Q5 (B) :enswerlhe Multiple-Choice Questions (MCGQs) by choosing the correct option giv!;
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Acommonmmmmhdmnmdsmhpmﬁtyon.

a) Non Reliability ; v :
“b) Non Use ability o 8

~ ) Non Subjectivity &7 4 ; 3 .,3\:
lnfonmtiomg o s : 7 %

‘a) Raw Data
D e ‘(9'
¢
d) Organized data
“A systematic step-by-step Procedure followmg lo;\calpn@ ing” called J..j_...

a) Expenmenl )
b) Observation

¢) Deduction

d) Scientific method

scarch Tools € & iy :.‘T:
A . &
of the problem we need to give a > i
N
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y Aﬂi}ﬂﬂlﬂybmhws <’ _
lll ﬁeﬁtﬂmhnmyu s of a problem.
a) Application '

'b) Rejection

o = 0 Selection & SR S G
=2 = d) Planning S
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& o ~ ¢) Primary and Secondary 3 & ‘

o % ) Primary but not Secondary &
13) Interview with a detailed standardized sc &,
& ~ 8) Clinical Interview 3 <
¢ X b)) Structunl Interview o >
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.\\' S -8) Cem'nimdancy O 2
& L b) Dispersion 7
~y & ¢) Skewness ' B N
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S > 4) Mean

~ b) Made -
o < ¢) Median Hy: -
. . d) Upper quartile 4
> ~19) Find out mode of the following data series: 102132.43.54.65 7637

& w6 | R
o o b) 76 ! 4 '_*" Y »
< Ky S c) 87 . - A ,'}\
ek d) 98 ) ,
20) Calqﬂneswbwmnwhm"smofwdev -
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